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= (1729 + 19%9) %1 18 & oo e 9man 2,
Al SIS T TR 7

(a) 6
(b} 2
e 1
(d) 0

n % 98 g98 =g 99 #41 2 e A= e omn
w10 F fawfE & s

25 %32 x a8 x5 x 6" x TOx 812 x 9% x
109 % 1512 x 2014 x 2211 » 25159

(a) 6b
(b} 55
(c) 50
id) 45

&1 479865AB H fhay T (A, B) Hwa # 1fg
He 9 g fawrsy & ot 3z o gan 2 6

e & A o faem & 2
ta} &

(b) 6

cd 9

d) 11

(2-A)

999 x abe = def132 T foam $ifsm, 5@1 a, b, ¢,
d,e3MFIAFE| a b e d e dATf 5 AN
HUY: FT 8 2

(a) 6.6,8,687
(b) 8,6,8,6,7,8
(e} 6,8,8,7,86

(d) 8,6,8,8,6,7

" migaT A, B 3 ¢ wF wA-fag 9 A
5p.m.,ﬁp.m.3ﬂ“(?p.m.tf{aﬁmmﬁﬁ
£ 3R %99 60 km/hr, 80 km/hr 3R x km/hr
<t TwEEE Tfa & s @ fgen # awn = #
afg @t % dom @it A9 v o e W
us Ay faerdl &, a9 x % a2 7

(a) 120
(h) 110
(e} 105
(d) 100

fom 7 o = =4 wEet 1/ fim fedl qoifs
&1 o= (Fga) off ofi 9w ad = fed qoiies &
@il & | 3 fhat 21 a% s ST =Ry a1
gl 3g qeadt ad # fEft e = ol el
Fadl 99 H TRt "@em @ o9 (FE)
e ?

(a) 79H

(b) 1299

(¢) 1479

(d) 2199
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What is the remainder when (1727 + 19%%) jg

divided by 18 ?

{a) B

(h) 2

ic) 1

dy 0

What is the largest value of n such that 10"
divides the product

29233 4B x5 67w T x 812 x 97

108 3 1512 x 2014 x 2211 x 2515 7
ta) 65
(b} 55
() 50

(dy 45

How many pairs (A, B) are possible in the
number 479865AB if the number is divisible
by 9 and it is given that the last digit of the
number is odd ?

ta) A
ith) 6
(c) g

dy 11

4,

(3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, e and f
are digits. What are the values of a, b, ¢, d, e

and f respectively ?
(a) 6,6,8,6,8,7
(b) 8,6,8,6,7,8
(e) 6,8,8,7,8,6

(d) 8,6,8,8,6,7

Three cars A, B and C started from a point at
5 pm.,, 6 pm. and 7 p.m. respectively and
at uniform speeds of 60 km/hr,
80 km/hr and x knvhr respectively in the same
direction. If all the three met at another point

travelled

at the same instant during their journey, then

what is the value of x 7

fal 120
(b} 110
(c) 105
(d) 100

Priya's age was cube of an integral number
(different from 1) four years ago and square of
an integral number after four years. How long
should she wait so that her age becomes
square of a number in the previous year and

cube of a number in the next year ?
{a) 7 years

(b} 12 years

(e} 14 years

{d) - 21 years



DFGT-T-HTM

Frffiga d & =9 Fa9 g @7 2 2

2 § € 91 AT HEAIHT H Il 2 g
faar=m 2

ih) a‘lﬁaqyﬁ«ﬁm,naﬂtﬁm#@np
%F%Q,qﬁpﬂuﬂﬁmxnaﬁm
&l B, 99 p T a9 m H AT o F fawtaa
w2 |

ﬂﬁﬂﬁitﬁ@ﬂﬁn-l FEIHE (n @&
;@m%),ﬁﬂﬁﬁmm
|

d starsw el #1 Had UH U
g & fomd @ Fereadi s
A 4 2 A B |

ia)

(c)

(d)

x> 0% Y, x + "212 1 =AAH WA R 2
(a) 1
(by 2
1
22
c) 5

(d) Fraffa 98 e s gean
¥f2 ﬂ/ﬂ=1g,ﬁx%s@mgﬁ

1-px|y1l4qgx
FE?

1 [2p—
(a) £ — P q,2p:tq
pV 4q

1
(b) iﬁdp—q,p*q

cy =+ ﬁﬂp—q,p:ﬁq

d) = %1|'2p—q .2p=#q

10. UF BEEE F 9 w90 FE § 200 B gfg

11.

12,

A=A

61 € & | afz oEeam § sl £ den
20% <t gfg $ Il & AR TAEE T WU
WA R, 99 W wEA # B g9wd § e
wfeeTa AEeE B3 2

(a) 30%
(b}  40%
(e) 44%
(d) 48%

T 3R 2oy werHt # ot v & faenerm 4 gedl
2 | faumem o= & fom 21 & anfera = w=@m
H & | 71 A 8 knv/hr 2 SafE 7 H
T 10 knv/hr B | forees v % fo g
9 fide =0 ot B | T 3 B % 3@ B
fereera fomen gz 2 2

{a) Hkm
(b} 55 km
(el 6Bkm
{d) 65km

wea & Fefafes @ 9 $F-a gm, adE

32,3 X 0BT B ?
(a) 0,2
() 0,-2
© 1,-1



7.  Which of the following statements is no#
true ?

{a) The difference of two prime numbers,
both greater than 2, is divisible by 2.

(b)  For two different integers m, n and a
prime number p, if p divides the product
m x n, then p divides either m or n.

ic) If a number is of the form 6n-1
(n being a natural number), then it is a
prime number,

(d) There iz only one set of three prime
numbers such that there iz a gap of 2
between two adjacent prime numbers.

8. For = > 0, what is the minimum wvalue of
X+ 2
+ 2
2x
(a) 1
(b) 2 ,

1

() 2=

2

id) Cannot be determined

l+px [1-qgx
9. If —— |——= = 1, then what are the
I1—px V1+qgx
non-zero solutions of x ?
Dy —
{a) £ A 121 2p=q
p q
; 1
(b} F— pP—-q,p#q
Pa
@ +2/p-q,pzg
q
(d) + %\!Ep-q 2p#q
DFGT-T-HTM

10.

11.

12.

(3-A)

In a hostel the rent per room is increased by
20%. If number of rooms in the hostel is also
inereased by 20% and the hostel is always full,
then what is the percentage change in the
total collection at the cash counter 7

(a) 30%
(b 40%
(c) d4%
(d} 48%

Radha and Hema are neighbours and study in
the same school. Both of them use bicyeles to
go to the school. Radha's speed is 8 km/hr
whereas Hema's speed is 10 km/hr. Hema
takes 9 minutes less than Radha to reach the
school. How far is the school from the locality
of Radha and Hema ?

(a) SHkm

(b} 55km

(e} Bkm

(d) 65km |

Which of the following pair of numbers is the

solution of the equation 3**% +3*=10 ?

fa) 0,2
by 0,-2
) 1,-1
dy 1,2



13. 7% e gam @ 6 log,, 2 = 0-3017%
log;; 3= 04778 | (108)10 T fepa= 376 & 7
(a} 19
(h) 20
(c) 21
(d) 22

14. &9 arursy "EAed &1 AEs 100 B | 9fE T
4 weh forelt gufl e | 36 sfus R, @ W
At § 9 U 9ed B
(a) 17
(b) 29
(el 43
(d) 9w 4 | Hrg Td

15. 4% a, b 3 ¢ weHS i FETd 36 v E

1
—1.=£%,aaa,baﬂtc$lm
a4 —

b+ 1

1

C+—

2
o
a) 1
b 2

() 1-33
(d) 233
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I W (03) g & forn Preafefam @ e
irfo

1,00,000 SHEEa g et sm § f9 wwR

% GHERYS (1, 11 ST 1I11) 3uerey & | 39 I H &
GHETL-YET = qeq J1el @l o1 Sfoea 59 TN R -

16.

17.

18.

(6-A)

FHER -7 W11 BT ST

1 10%

I 30%

111 5%

gHl 13T 11 8%

BT 11 31T 111 4%
Ml 1 3 I 20
aeft =t (1, 11 3R 110) 1%

Fae Ush GHMEN-OH TgA 9Tl 0T sl 5 =
27

(a) 20,000
(b) 25,000
{c} 30,000
(d} 35,000

FHAFY o GAERTE H Gg4 a6l AR 6l
e =R 2

(a) 12,000
(b) 13,000
(c) 14,000
(d) 15,000

9 T EE w9 R W e i SR §
/w18 Wt aurERa 777 Ted & 2

(a) 62,000

(b) 64,000

{c) 66,000

id) 68,000

L



13. 1t i= given that log,, 2 = 0-301 and |Consider the following for the next three (03)
log,, 3 = 0-477. How many digits are there in |items :

(108)10 2 . "
In a certain town of population size 1,00,000
i 3B three types of newspapers (I, II and III) are
available. The percentages of the people in the town
& 20 who read these papers are as follows :
Proportion of
@ 21 Newspaper il
I 10%
(d) 22 I 30%
I 5%
Both T and 11 8%
B
14. The sum of three prime numbers is 100, If one geh 1 ind 20 £
Both I and II1 29
of them exceeds another by 36, then one of the All the three
numbers is (1, IT and III) 1%
{a) 17 §
16. What is the number of people who read only
7
®) 29 one newspaper 7
(a) 20,000
(c) 43 (b) 25,000
{c) 30,000

id} None of the above
idy 35,000

1B T84, B and cvare positive inbegers-such that 17. What is the number of people who read at

1 16 least two newspapers ?
= —, then what is the mean of
a+ ---:-l_ == 23 ta) 12,000
1
b+ 5 (b} 13,000
G (¢) 14,000
abande? (d) 15,000
la) 1 18. What is the number of people who do not read
Ay B any of these three newspapers ?
' fa) 62,000
6] 1-33 (b} 64,000
ic) 66,000
" -
W20 () 68,000
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19. 773 % THW ¥ 3T 1 3H TR 7 23. UF faWH uH BaE 9 % AW AR FAER
TERT T E B | U weeR g o A famme
(a) 1 3 fime & 2 | gft ot fomg P og 1 HEE W
(b) 3 3T 5 (t + 30) Heve W fauE % IEEE w5
TR | BT (t + x) HvE 9, fomE fawg P
(e 7 31 Featar g1 8 | x fohmeh awmn 2 2
(d) 9 (a) 75 TFTE
(b) 90 HFE
20. WM ST n T TER F TH GH0HF QO E:] 12‘;{““3
8 (n? + 48) UH T T B | I YHL F o A
EgT w8 ? 24. @ iH p 3 q (FA > 1), 9 5 FwE:
w2, % el § fefafas se w fa=aw
(a) B ﬁ'ﬁt{:
(b) @I 1. p 3l q2FT FwT gEad & wedl # |
(¢) 9. p 3t g 2H 9ISY HEAU B gl B |
@ = 3. p 3 q ¥ # U AN SN gEd W F
Hehdll 2 |
30w 0§ FH-H YA FE d 2
21. x=d,f—"fi_%:%m, ’“EZE +.’5+2ﬁam (a) *haet 137 2
2 +4/3 x— 242 x— 243 () St 2 3 3
R 2 (¢) Fad 13T 3
(a) 1 d) 1,233
(b)y 2 95. U Hu d 100 T g, G shoa g@=
30 kg & | afz erefral @1 otEa 999 24 ke 2
(e) 3 3w H 32 kg B, A1 Hen # wefEgi A
d 2 T feat 2 2
(al 25
; . (h} 26
22, i @B x, y 31 2 30 WHE & % x, 2 1 30% © 27
oy, 29 40% B 1 3G x, y 91 p% B, A p (d) 28
HAA TR ? 26, Tl @1 amafas d@wmei o 30 b & U,
(a) 45 Ja-12 +(b—a)® M
(b) 55 (a) EHI A
o (by ot 3 T
4 (¢) WTeH $hadd e a=b
(d) 75 (d) G If2 s Faa afZ a> b
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19, What is the unit place digit in the expansion
of 773 7
(a) 1
(b} 3
(e} %
idy 9
20. BSuppose m is a positive integer such that
(n? + 48) is a perfect square. What is the
number of such n ?
(a} One
(b) Two
(e}  Three
(d)} Four
4/6
21. For x = ———— , what is the walue of
J2 +43
x+242 L X + 243 2
x—-248  x—92J%
(a) 1
(b) 2
() 3
{d) 2
22. =x, vy and z are three numbers such that x is
30% of z and y is 40% of z. If x is p% of v, then
what is the value of p ?
(a) 45
(b) &5
(e} 656
(dy 75
DFGT-T-HTM

23.

24,

25.

26.

(9-A)

A plane is going in circles around an airport.
The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
a point P on the ground at time t seconds is
equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?

(a) 75 seconds

(b} 90 seconds

(e} 105 seconds

(d) 135 seconds

Consider the following statements in respect
of two integers p and g (both > 1) which are
relatively prime ;

1. Both p and q may be prime numbers.

2. Both p and g may
numbers.

3. One of p and q may be prime and the
other composite.

Which of the above statements are correct ?
(a) 1and2 only

(b) 2 and 3 only

(e} 1and3only

idd 1,2and3

be composite

In a class of 100 students, the average weight
is 30 kg. If the average weight of the girls is
24 kg and that of the boys is 32 kg, then what
is the number of girls in the class ?

(a) -2b
(by 26
(e) 27
(d) 28

For any two real numbers a and b,
Ja-12+ Jib-a)? is

(a) always zero
(b} never zero

(e}  positive only ifa=b
(d) positive ifand onlyifa=b



27. ﬂﬁa:b=c:d=1:ﬁ%,?ﬁ;z:;2
T8 ?
(a) -é-g}—é
(h) EE.EE
(e} ;—E
@ 1

28, 053+0-53 Tas S & 7

(a) 1068
(b) 1068
(¢ 1068
(d) 1068

29, aafge 3 > NP aft Bt &, ==
(a) N =T$ 99901 HE&AT &

(b) N, 2# 5t wh gAqel TE A
(¢) N,3¥® agt & gIqui HE &
(d) N,3 % A U gAY eI #

30. TafafEs 0 @ s vs st g 2 7

(a) 459049
231
(b) Eod

(e} 0-45454545......
(d) 0-12112211122211112222
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31,

32,

(10-A)

o 3rg % o e ¥ | srersem feemi W qu
FH & U wE gew i smEvgs e s

Ige g9, Fefefiaa amoft § gafe o # .

YA I | 9OT I | WP IO

e (kmph) 9 8 7-5

w7 (et #) | 50 80 100
56 Yas 6 e Tia TR 7

(a) 817 kmph
(b) 800 kmph
(¢)  7-80 kmph
(d) 7-77 kmph
oy L S SR B K- -

b+e c+a a+b

4 HH-H 99 HE B 2
(a) T Bm 1w -1 auat 2 |

(b) nﬁﬁﬁa%ml%mﬁl

(c) ueiw frm }ﬁmﬂ#w%r

@ e fm Faw %é‘sw%r

T 3521 =1 8 i@ foeen s 2 | e
w22

fa) 1

by 3

c) 7

d) 9

T UST TEAT H T % H WIS X B
T TR F Rt ofF XA gwd B 2

(a) 3

b) 4

c) &

d) 6



27. Ifa:b=e:d=1:86, then what is the value of |31. A race has three parts. The speed and time

a? +c? 5 required to complete the individual parts for a
b2 +d2 runner is displayed on the following chart :
@ 1 : PartI | PartIT | Part I1I
600 Speed (kmph) 9 8 75
o Time (minutes) | 50 80 100
G0
What is the average speed of this runner ?
(@) % (a) 817 kmph
(b}  8-00 kmph
(d) % (e}  7-80 kmph
{(d) 777 kmph
is 053 3 7
28. What is 0-53 + (53 equal to 7 dg. qF B B oo B " ihan which sE of
- b+te e¢+a a+b
iaj - s the following statements is correct ?
(b) 1068 (a) Each fraction is equal to 1 or -1,
() 1068 (b}  Each fraction is equal to % or 1.
id) 1-068 i
{c) Each fraction is equal to = or —1,
29. The inequality 3" > N® holds when (d) Each fraction is equal to % only.

(a} N is any natural number

{(b) N is a natural number greater than 2 33. The number 3°2! is divided by 8. What is the

remainder ?
{c) N is a natural number greater than 3

(a) 1
(d} N is a natural number except 3 ) 3
e} 7
30. Which one of the following is an irrational d 9
number ?
@ /59049 34. A prime number contains the. l‘.l:lg'lt. X at unit's
place. How many such digits of X are
i ?
(b) 231 possible
593 (a) 3
(e) 0-45454545...... (b} 4
(d) 0-12112211122211112222....... &
(d) 6

DFGT-T-HTM (11-A)



6.

36.

37.

38.

DFGT-T-HTM

#f2 vk T F 6% B F TN 6% WH W
=1 AW, o1 faskar F T 6 fuS I B R |
& 1 A Ood TR 2

(a) ¥ 18
(by 36
(c) T42
(d) T50

U WA hi HerE 12 e Ul 18 wfenst &
T 14 & g oW |
16 #fgemd g8 @a
HEd B ?

26 e

by 24fe7

() ofem

(@ s8fem

(al

Ife 35 =4¥ = 12* B, @l 2 Torms s 2 7

(a} xy

by =x+y

...
X+

(d) 4x+3y

A (4a + Tb) (de — 7d) = (4a — Tb) (dc + 7d) B,
Al fefafea 8 SR v odt 2 2

=T e

ta)

o|e

{(b)

Nl o'le

(el

B e o

|
o @

(d)

=P

39. R fhagm > + ax + ) B (x - 1)

41.

42,

(12—-A)

FUEl (x + 1) § fgwfsm =0 w 9wws e
TEA R | a3 b UH HAM T E 2

(a) 430

(b) 033

(¢) 330

(d) 03 =g o quis

foreft 1 =1 QU F § IR & 6 HE @ E,
wafer s It 1 10 HE H G Har 8 |
gfz 4 g1 Fee wW W, 91 39 HE B @
F | e guy = 2

(a) 35
(b) 3wue 15 f=e
(¢) 3% 30 fime

(d) 3 He 45 fime

2+J2+,,’2+H = U R ?

fa) 1
(b) 2
(e} 3
d) 4

T i H, 529 e el 7 Be 5 eiR
429 Mo | %l 70 | G 17% 31 ol 9 B
gC, o aFi foawgi # fRas ufoem olienef o
O ?

(a) 77

(b) 58

(e} 48

(d 23



35.

If an article is sold at a gain of 6% instead of a
loss of 6%, the seller gets ¥ 6 more. What is
the cost price of the article ?

{a) <18
by T 36
{c) T 42
(d} <80
36. A field can be reaped by 12 men or 18 women
in 14 days. In how many days can 8 men and
16 women reap it 7
{a) 26 days
(b) 24 days
{c} 9days
(d) 8days
37. 1If 3* =4 = 12% then z is equal to
lal =x=v
i) x+y
(e) —X
X+ ¥
(dy  4x + 3y
38. If (4a + Tb) (4c — 7d) = (4a — Th) (de + 7d), then
which one of the following is correct ?
a ¢
{a} —
b d
oA ¢
by ===
d b
a d
6] ===
c b e
da ¢
(d) —_—=—
b d
DFGT-T-HTM

39.

41,

42.

(13-A)

Given that the polynomial (x% + ax + b) leaves
the same remainder when divided by (x — 1) or
ix+1). What are the wvalues of a and b
respectively ?

{a) 4dand0
(b}  Oand3
el Sand0
id)  0and any integer

Tushar takes 6 hours to complete a piece of

work, while Amar completes the same work in
10 hours. If both of them work together, then
what is the time required to complete the

work ?

(a) 3 hours

(h) 3 hours 15 minutes
(c} 3 hours 30 minutes
id) 3 hours 45 minutes

What is the value of 2 + J2+,|I2+..|I',........ ?

a) 1
by 2
e 3
d)y 4

In an examination, 52% candidates failed in
English and 42% failed in Mathematics. If
17% failed in both the subjects, then what
percent passed in both the subjects ?

(a} 77
ib) 58
(e) 48
(d) 23



43. us =Afe fmdt ae & A g w4, = 3,90,000
#i gaufy @ ™ 58 3wdh geh, 9= "6
sit aw afedi § st sen o | 39 fEw B
o1 5 ot aaofs e 3 =1 fadt 2,
el §¢ H IFh! A T wAnh faer aifae
AR Tt g=afs o = fawd 2, 99 &8 =i
gl g ufy et aifee | uelt @ feem
fopamr =1 2
(@) ¥ 14,000
(b) ¥ 12,000
(e} ¥ 10,000
(d) T 9,000

44. 40% TF FHafly =9 1 [T W wh T
gaufy FH-E-%n o oof 9] 4 o & =
Bl St 2
fa) 3
{b) 4
(c) 5
id 6

45, UF =afeh 4 T 17,200 # 990y # Fi7 9wt §
fafsm =+, 39 5%, 6% 371 9 anftis wramm
= i gt v ey fomar | @ a6l & wonfea
o, 3 gt o= ot 4 vwonm == s
B3 | 9% =ae W FEw i gy e
2?7
(a) ¥ 3,200
(b) ¥ 4,000
ic) 4,800
(d) ¥ 5,000

DFGT-T-HTM

g i .48
46. (x—y)" +{y—2)" +{z —x) S 35

47.

48,

49,

(14-A)

F(x-—yMy—zl{z—x)

fa) 1
iby 0O
1
( ik
c) 3
d) 3

R =p=ctMpicact @l + 1
foreer =t 2 0

'ﬂ'ﬁpﬁq,ﬂtﬂmxz—lﬁx+r:{}%%§
AR p-—q=1%, A rF AT TR 7

(a) b5b
(b} 56
(e} 6O
(d) 64

arafiyem 2~Tx+12>0%ﬁﬂﬁ,mﬁ

Y HI9-97 UF GEl B ?
fa) 3=x<4

(b) HEF —w<x<3
(e} A 4<x <o

d) —cccx<3HAYGT 4 cx <=



43, A man who recently died left a sum of

44.

45,

DFGT-T-HTM

T 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter and that each
daughter should receive twice as much as

receives
their mother receives. What was the wife’s
share ?

{a) ¥ 14,000

(b) ¥ 12,000

{c) ¥ 10,000

(d) ¥ 9,000

What is the least number of complete years
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?

(a) 3
ib) 4
e 5

d 6

A person divided a sum of T 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple interest. At the end of two
years, he got the same interest on each part of

money. What is the money invested at 9% ?
(a) ¥ 3,200
ib) ¥ 4,000
(e} 4,800

td) ¥ 5,000

47.

49,

(15-A)

x-yP +(y-2)2 +(z-x)°
Jx—yly -2z —x)

What is

equal
to ?

(a) 1

(b 0

(el

Lo | =

(d) 3

If a* = b¥Y = ¢ and b? = ac, then what is

2 + 2 equal to ?
x oz

(a) i
¥
I
¥
W 2
¥
i -
¥

If p and q are the roots of the equation
x*—15x + r = 0 and p — q = 1, then what is the
value of r 7

(al 55
(b) 56
{e) 60
(d) 64

For the inequation x — 7x + 12 > 0, which one
of the following is correct 7

fa) 3<x<4
(b} —=<x<3only
{c) 4 < x <= only

dl —emasx<3ord<x<os



50. S 520 2% ] HEE B
{a) 3
b 7
(e} 17
(d) Iofe § @ = T8
51. Elﬁ tan x = l,ﬂ-:xn::gﬂ“'%, Al 2 sin x cos x %1
HH #4082
la) %
by 1
(Ic} g
d) 3
52. sin 46° cos 44° + cos 46° sin 44° I WH FT 8 ?
(a) sin2°
(b} ©
() 1
(d) 2
53. ®F #ifsmw o0 < H{&D“%,?ﬁmﬂa?ﬁ'-ﬂ,
4 sin® 0 + 1 FFEH a=T SAyen FO B 2
(a) 2
(b) 4sinBd
te)  deosd
(d) 4tan®
DFGT-T-HTM

54, U HAYEHS ABCDEF W fa=m $ifsu | B ain

55.

56.

(16-A)

CWE IR feom & | A @, B foum et &
sfd =1 3999 ®I07 300 B, R ¢ W e T F
IS =1 IHA HI 45° B | B 3R C W fEE

a6 FEEdl @ I =R v
| (a) 1:.438

(b) 1:3

© 1:2

d 1:243

tan 1° tan 2° tan 3° ...... tan B9° =1 AH EHH% ?

ta) O
(b) 1

ey 2
d} =

2 guat nferdl , 9o el 39 8 gfau 6
s fee 2 | weelt weft o e @ 3w & @R
AT {31 Ueh Afth qEl Tl H S SR 8 @
Jaeh i AR B | et oe w9 gl e
150° qge1 & 3 15 e 7% 20 km/hr 6t f
B AT B | 30 @1g 98 60° "l 37 gEan @
31T 20 f92 9% 30 koo/hr 1 7ifd | e gEd
et § 9" war ® | gFl feEt &% d@re gl
foperft 2 2

ta) 75 km
(b} 105 km
{e) 126 km
{(d) 15 km



50. The expression 52" — 29" hag a factor
(a) 3
by 7
e 1V
(d) None of the above
81, If tanx =1, 0 < x < 90° then what is the
value of 2 sin x cos x ?
1
(a) 3
by 1
(e) %
(d) 3
52. What is the value of
sin 46° cos 44° + cos 46° sin 44° 7
{(a) sin 2°
b} O
) 1
d) 2
53. Suppose 0 < 6 < 90°, then for every 8,
4sin® 0 + 1 is greater than or equal to
{a) 2
(by 4sin®
{c)  4deosh
id) 4tan®
DFGT-T-HTM

b5d.

b5,

56.

(17 -A)

Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the
height of towers at B and O ?

(a) 1:43

by 1:3

(c) 1:2

@ 1:243

What is the value of

tan 1° tan 2° tan 3° .......... tan 89° 7
[a) 0

h 1

{c) 2

(d) =

There are two parallel streets each directed
North to South. A person in the first street
travelling from South to North wishes to take
the second street which is on his right side. At
some place, he makes a 150° turn to the right
and he travels for 15 minutes at the speed of
20 km/hr. After that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 kmv/hr in order to meet the second street.
What is the distance between the two streets ?

{fa) T5km

(b} 105 km
(c) 125 km
(d) 15km



57. zrﬁatanﬂuutaﬂﬁmasgﬁ,?hnﬁrm 61.

frefafigs orffea areama seq w =R

?ﬁfﬁﬂ. H
7
® f
(a) E 0-10 8
) '?E' 10— 20 12
20 — 30 10
@ 30 — 40
3 - p
@ E 40 — 50 9
9
afe 39t 29 &1 O 252 B, d1 p 1 AE F4
58. sinZ 25° + sin2 65° 7 A =T & ? 27
(a) 0 (a) 9
b 1 (b) 10
{c) 2
@ 4 (c) 11
) 12
59, sin® 0+ cos® 0 + 3 sin® 0 cos2 @ — 1T AE F7
L& 6. Freifafian amism so 9 e S -
(a) @
by 1 = 4
ey 2 a8 G
(d) 4 5 4
_ 6 5
60. arEfas HEMH o, B, y IN 5 & fom, 75 Z
Fr=feataa o fa=m e - = =
1. sec o= 1f4 7 5
2 tan p = 20
T 4
3. cosecy=1/2 ;
PR - =0 WA =hl [IieT1 =41 & 7
ke # & Fora famo gva 7 € 2 (a) 6
i o (b 7
(h) @
(c) 8
el Gic|
(d) =R d 9
DFGT-T-HTM (18-A)



57. If 3tan 0 =cot® where 0<0< g then what
is the value of 6 7
b3
{3:' E
i L]
(b} "
m
(e} —
“ 3
T
id) 5
58. What is the value of sin? 25° + sin? 65° 7
fa) O
by 1
(e 2
id) 4
59. What is the value of
sin® 0 + cosB 0+ 3sin®0cos®0-17
ta} 0
by 1
ey 2
d)y 4
60. Consider the following for real numbers o, §, v
and & ;
1 sec o = 1/4
2 tan f = 20
3. cosecy = 1/2
4 cosd=2
How many of the above statements are
not possible ?
{a) One
(b) 'Two
(c) Three
id) Four
DFGT-T-HTM

61.

62,

(19-A)

Consider the following grouped frequency
distribution ;

x f
0-10 8
10 — 20 12
20 - 30 10
30—40 p
40 — 50

If the mean of the above data is 252, then
what is the value of p ?

(a] 9

(b) 10
(e} 11
(d) 12

Consider the following frequency distribution ;

x f
8 6
5 4
6 5
10 8
9 9

(5]
7 -+

What is the median for the distribution 7

(al 6
(b) 7
(e) 8
d> 9



63.

65.

66.

DFGT-T-HTM

50 SHHTT U iRl 1 3ftEE x B | 9 o
=T v quiteRi =t ot snfie s fomn smo, | T
St (wrea) 41 B 2

(a) x+1

(hy x+2
() x+4

(d)  x+ (x/54)

21 3Rl areft T gemst w fGEm Hifw S

I FHI W T "ed oF w o, St & =i
=

wdl £ | 3 weH 1 g1 3R A g
aftaa #= 2 7

(a) 33
(b 44
{c) 65
(d) 66

7a % amd fren ¥ frafafas @ @ wnan
wfefer g@ & 2

1. Y9 AiE (I 2rum)

2.  gANE (TS-=rEAm)

3. fofm s (foeemm)

= fam o e @ gEm # wd 3w g

(a) ehae 13N 2

(b) Haw 230 3

(¢) hae 1313

(d) 1,231 3

frafafias 4 o 9 v fafa o wwha o
M sifes, Wl wiwe 727 2 E 2

(a) WeaE ST HEATERR R

(b) SIYeHE SATHT HISATHR ghl

(¢c) TUHTERRI o WIEAW | Wil 7§ gfeEi g
(d) SIS wiY-9=Y &

67.

(20-A)

s =tk 1 WIS =99 T 6,000 & | fafim wgi

T 19 T wed e 2
= #1 72 e (v &)
1. @n 2,000
2. 9= 660
3. e i fepman 1,200
4. o 480
5. fafaw 1,660

gfe 39w SAHS] H 15 cm FUE F TH
yfaeaan =9 smtm 4 fFefe e s, @
foren afi fafgy & wafus @y v F 261
el it Fragal wuw: = i 2

{a) 1:25em 3 5 em
(b) 12 ¢m 3T 415 em
() 1-2em 3 3-5em

(d) 415 cm 3 6 em

ﬂﬁnﬁwﬁﬁmﬁ&lﬁﬂﬁmWnﬁaﬂIﬁﬂ
Y07 T AT m 2, @ Tt o Vel w1 Arey =,
B?

ta) 2m-— .
(b 2Zm + L
el m-— ——

2
{ed) m + m_
n



63. The average of 50 consecutive natural
numbers is x, What will be the new average
when the next four natural numbers are also
included ?
fa) x+1
(b} x+2
(el x+4
(d)  x+(x/54)

64. Consider two-digit numbers which remain the
same when the digits interchange their
positions, What is the average of such
two-digit numbers ?

(a) 33
(b) 44
(el BB
(d) 66

65. Diagrammatic representation of data includes

which of the following ?

1. Bar diagram

2. Pie-diagram

3. Pictogram

Select the correct answer using the code given
below :

(a) 1and 2only

(b) 2 and 3 only

(e) 1land 3 only

id} 1,2and3

66. The data collected from which one of the
following methods is noet a primary data ?
fa} By direct personal interviews
(b) By indirect personal interviews
{c) By schedules sent through enumerators
id) From published thesis

DFGT-T-HTM

67,

(21-A)

The monthly expenditure of a person is
2 6,000, The distribution of expenditure on
various items ig as follows :

Item of expenditure Amount (in )

1. Food 2,000
2. Clothing G660
3. Fuel and rent 1,200
4, Education 480
5. Miscellaneous . 1,660

If the above data
percentage bar diagram of height 15 ¢m, then
what are the lengths of the two segments of
the bar diagram corresponding to education

is represented by a

and miscellaneous respectively ?

{a) 125 cmand 5 cm

(b)Y 1 2cmand 4-16 em
(e} 1:2em and 3-5 em
(d) 415 cm and 6 cm

If the mean of m observations out of
n observations is n and the mean of remaining
cbservations is m, then what is the mean of all
n observations ?

2
(a) 2m-
n
2
(b) 2m+ 2
mn
2
(l:} m_m_
n
2
(d) m+ 2
n



69. fafflgs § @ w99 s 3w =6 &9 §
gifed 2 7
(a) wTfET=R - e feafa
(b} HIEA ~ et el
() TUELETS - 3AREE
(d) ®EeTh ~ e
70, Trfafas g9 vF oFdd = & WHEwar @ed
3N I|F AnERdT FgYS d wafed # O
frafafiga @ & =H@ @ g9 wd w0 @
gifera 787 2 7
(a) YA I ER T@ - X4
(b) ®EMA S FWI A - = ARARAT
wHifea
(c) WEYH o ¥l Y& - «Ewal 52 &
1 IiF (FEH
e )
(d) WEYH F1 8RS - =W A
FREATAT
71. U 54 U, o g5 e & dF T R
gfe wmm i T i JEE wE: 30% 3
10% &g 4 smd, & 3o o fean a7
Frm ?
40
{a] ?%
(b)  20%
(e) 25%
) 27%
DFGT-T-HTM

T2,

73.

T4.

5.

(22-A)

oy fomeft e < ueder o = s
MU, A IFH aEhel W Fhad giem
St 2
(a) 75%
(b) 50%

#
o

(c) 450%
5004

g 10 em B 9@ wF gw A @ wEERR
el s FFEEal 12 em 3 16 em B, @ A
a1 Sfrare & = 6 gt e 2 2

(a) 1cm JAYET 7 em

(b) 2cm #AYST 14 em
(c) 3cm ST 21 em
(d) 4 cm FJYFT 28 cm

‘o’ YT 9T U 9 % of @@ il e
e, 2 g =99 T % e 3§ TeR @
m E 3 3 g st w5 Sed g, sk g
Bt TG B | 99 ST AEell i weEls e
fepeT 2 2

2 1
(a) a“(m+ 2J

1

b 2ip_ =
(b} a“(m 2}
-

{c) a(z ]

(d) 32{% +1)



69.

Which one of the following pairs is correctly
matched ?

Graphical location

(a) Median .
b)) Mean — Graphical location
(e}  Geometric mean — Ogive
(d) Mode —  Ogive
70. The following pairs relate to frequency
distribution of a discrete variable and its
frequency polygon. Which one of the following
pairs is pof correctly matched 7
{a) Baselineofthe — X-axis
polygon
(b}  Ordinates of the — Class frequencies
vertices of the
polygon
(e}  Abscissa of the — Class marks of the
vertices of the frequency
polygon distribution
(d) Area of the — Total frequency
polygon of the distribution
71. In a rectangle, length iz three times its
breadth. If the length and the breadth of the
rectangle are increased by 30% and 10%
respectively, then its perimeter increases hy
40
fa) —%
W B
(hl  20%
(c} 25%
dy 27%
DFGT-T-HTM

72,

73.

T4.

5.

(23-A)

What is the percentage decrease in the area of
a triangle if its each side is halved ?

(a) T5%
(b) 50%
(e} 25%
id) No change

The volume of a spherical balloon is increased
by TO0%. What is the percentage increase in
its surface area ?

ta)  300%
(b) 400%
{c) 450%
idy  H00%

If the lengths of two parallel chords in a circle
of radius 10 em are 12 ecm and 16 em, then

what is the distance between these two
chords ?

(a) lemor 7cm

ib) 2ecmor 14 em

{c)  Jcemor 21 em

{d) 4 ecmor 28 em

Considering two opposite vertices of’ a square
of sidf:,\ ‘a’ as centres, two circular arcs are
drawn within the square joining the other two
vertices, thus forming two sectors. What is the
common area in these two sectors ?

(a) azin+%m
(b) aﬂm—%)
(c) 32{% -1}
(d) aﬂ{% +1)



76.

77,

T8.

79.

DFGT-T-HTM

‘@’ YT 916l U G & HHE B FH THR FE
T & f6 U oW ST §4aT § | ARy 6
e WS I T et @ 2

a (42 1)
a(v3-1)

(a)

(b}

a

(e}
£ -..-'E+2

(d)

go | ®

@ ware o dead uw wwew By
Eﬁmﬂf@ﬁ?ﬁﬁlﬁﬂ'&?? HHNT

(a) “had Uh

(b) el &l

(¢) “had o

(d) 3FFAa: FAH

uF # fag # F AmaE @
B2 g9 HI 91T 44 em B 3N

B¢ ga # 9y H g E
e w1 gawa R 2 2

154 ecm®
308 cm?

(a)
{b)
(c) 462 em?

(d) 616 em?

TS 6 ft x 12 ft JTHR & AIATHN AT Hidd o
6 3= =Sl e e 17 1 dimn 9 | e e
T 1 Hi9T 9 = g9 A 2 7

(a) 9& Fe

(b) 151 e
(¢) 171 F2
(d) 18 a1 Fe

80. U W s 1 ufta seehl wes S e

81,

(24-A)

F kTR | AR = WS W w0 F oAy
I 4: 5 7, A k1 HH =R 0

fa) 2
(b) 3
c) 4

(dy 5

UH 12 m T a0 F g e fe o E, e @
UF HI UF g & &9 H A5 T # ofi gal w
TH T F A, A B UEg A BU A
SR | g A Bem o ® 2

12

{a)
w4+ 4

(b)

(c)

(d)

n+ 242

UHBYE H R 1.1 4% ua H # | 9R
o <1 ofom sweht wed = g9 B kT
BATkF AT R ?

2
{a) 1+ —

J3

2
by 1-—

J3

2
(eh 2+ —

V3
id) 2



76,

T7.

78,

79,

DFGT-T-HTM

The corners of a square of side ‘a’ are cut away
so as to form a regular octagon. What is the
side of the octagon ?

aif2=1)
a(v3-1)

{al

(b)

Three consecutive integers form the lengths of
a right-angled triangle. How many sets of such
three consecutive integers is/are possible ?

ia)  Only one
(b}  Only two
ic)  Only three

id) Infinitely many

Two circles are drawn with the same centre.
The circumference of the smaller cirele is
44 em and that of the bigger circle is double
the smaller one. What is the area between
these two circles ?

(a)
(b)
(e)
(d)

154 square cm
308 square cm
462 square cm

616 square cm

A rectangular red carpet of size 6 ft < 12 fi has
a dark red border 6 inches wide. What is the
area of the dark red border ?

(a)
(b}
tc)
id)

9 square feet
15 square feet
17 square feet

18 square feet

80.

81.

82,

(25-A)

The perimeter of a right-angled triangle is
k times the shortest side. If the ratio of the
other side to hypotenuse is 4 : 5, then what is
the value of k 7

{a) 2
by 3
(cy 4
id &

A 12 m long wire is cut into two pieces, one of
which is bent into a circle and the other into a
square enclosing the circle. What is the radius
of the circle 7

{al 2]
w44

by —°
T+4

3
(c) =7
id) L

T+242

The angles of a triangle are in the ratio
1:1: 4 If the perimeter of the triangle is
k times its largest side, then what is the value
of k ?

2
a)] 1+ —

V3

2
(b) 1=—

J3

2
el 2+ —

J3
d 2



83. UH @AHV YT # F9 10em B AR IFH1[86. UH HG UH FeAH AR H GEl @I EE °
el 24 cm? 8 | AR 3w S g 3w 3 TEH q GEAN W 25 m R | AR AR
sft =g e F g w e W R, @ AR W 08 m A H FR w9 AR, Aq

9 e 81 T R 7 FEHI Al AN ¥ 144 m 3 sl g1 8
2 | e o o= e 2 2

(a) 245 em
fa) 62m

(b) /255 em

: (b) 65m

(e) /265 cm
(e} 68m

(d) 275 em
(d 75m

84. 8 cm FIso 96 U 99 H, AB 3T AC 91 97|87, & WA g9 UH-gEL I §H WHR Uid=es Hd &
39 wR € f AB = AC = 12 em B | Sl BC foF 8 & 7o g9 g 99 F F3 W A

& o= frad 2 2 e & | Al g el sl wdfss Sfer #i
T 1043 em #, A1 g9 F1 =W R 2 2

(a) 26 em
(b) 36 cm Ty
(b)  15cm
(¢) 347 em
{e) 20 em
(d) 637 em @ 30
om
85. f=AfafEa Fut w foaam $ifsm 88, fy=fafiad wyAl W famm Fifaw .
1. U FufgEng wveiE ghen =i g @ | 1. W sEE famge @ T @il
T e A — T I gl I HEA AT R
3| 2. el g0 & w19 @og (Fmie) ° & A
3o § & S8 A wd 28 0 s i
Nl IEE B H HAAE Fa A 2
(a) e 1
(b) “Had 2
(b) Hed 2
(¢) 13 23M © 13 23
(d) Td 1,98 2 (d) Td 1L, T8 2

DFGT-T-HTM (26-A)



83. The hypotenuse of a right-angled triangle is
10 em and its area is 24 cm? If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes
(a) 245 em
(b) V255 em
(¢) 265 em
(d 275 em

84. In a circle of radius 8 cm, AB and AC are two
chords such that AB = AC = 12 em. What is
the length of chord BC ?

(@ 2V6 em
(b) 346 em
(e) 347 em
(d 647 em

85. Consider the following statements ;
1.  An isosceles trapezium is always cyclic.
2: Any cyclic parallelogram is a rectangle.
Which of the above statements isfare correct ?
ia) 1only
ib) 2 only
{e) Bothland2
(d) Neither 1 nor 2

DFGT-T-HTM

86,

87.

88,

(27-A)

A ladder is resting against a vertical wall and
its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 14 m. What is

the length of the ladder ?
{a) 62m
(b} 65m
ic) BB8Bm
idy  7-65m

Two equal ecircles intersect such that each
passes through the centre of the other. If the

length of the common chord of the circles is
1043 cm, then what is the diameter of the

circle ?

fa) 10c¢m
(b} 15 cm
fe) 20cm
(d) 30cm

Consider the following statements :

1. The number of circles that can be drawn
through three non-collinear points is
infinity.

2. Angle formed in minor segment of a
circle is acute,

Which of the above statements is/are correct ?

fal  1only

(b) 2 only

te}  Both 1 and 2
(d) Neither 1 nor 2



B9.

90.

DFGT-T-HTM

fret Brgw ABCc % wHeW #, frafafea

srafaaman ot fa=an fifaw .

1. AC—-AB <BC
2, BC-AC < AB

3. AB-BC <AC

Iugwh # § HA-Y FE R 7
(a) had 1 3R 2
(b) ad 2 3N 3
(e) “hact 1303

(d 1,233

fFr=fefiaa wuE v famm i .

1. Tt forge <1 afmg sweht dm arfesma
(dfifem) & dnhe & =€ Bt 2 |

2. fefi Byt ABC #, afz Bc m=rE fag D
2, @ AB+BC + CA>2ADRAT B |

I | 8§ RE-E/E FU HE BE ?
(a) ehered 1

(b) a2

(¢) 13 23

d Td 1,782

AT 2 AT F4 (03) Ty & fore Feeferfaa w
formm Sifsm

o 9 et i % s 2 |9 % o
da-gelr e & S 39k wit SeahR e #
FAT R | A F I G =g WP 2 | I
Fargai auet 8 I UF W =4H 99 & o %
O R

91. A % IEAA H TP & G d T FIH

22

(a) 643 :1
b) 7:2
() 343 :1
(d 5438:1

92. U % A W AW & A & F1 I
??
(a) 4:3
(b) 21:16
© 14:11
@ 45:32

93. Trmfefas wuai o famm Fifvw .
1. WA F g dee, WE H A yO

Ha%e 1 A6 TR |

2. 4 & YA HARA, qoH & b JoOd
BEHe & ST 7 |

I # | FE-AVE wYA 98 28 ?

(a) wad 1

(b) hHaE 2

(¢) 13 22mi

(d AW LAE2

(28-A)



89. Consider the following inequalities in respect
of any triangle ABC :
1. AC-AB<BC
2, BC-AC < AB
3. AB-BC<AC
Which of the above are correct ?
(a) 1and2only
(b} 2and 3 only
(e} 1and3only
(d) 1,2and3
90. Consider the following statements :
1. The perimeter of a triangle is greater
than the sum of its three medians,
2. In any triangle ABC, if D is any point on
BC, then AB + BC + CA = 2AD.
Which of the above statements is/are correct ?
ia) 1only
(b) 2 only
{e) Both1and2
(d}  Neither 1 nor 2
DFGT-T-HTM

Consider the following for the next three (03)

items :

A cube is inscribed in a sphere. A right
circular cylinder is within the cube touching all the
vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

91. What is the ratio of the volume of the sphere
to that of the cone ?
(a) 643 :1
(b) 7:2
(€ 343:1
d 548 :1
92. What is the ratio of the volume of the cube to
that of the cylinder ?
{a) 4:3
(b) 21:16
(c) 14 :11
(d) 45:32
93, Consider the following statements :
1 The surface area of the sphere is
J5 times the curved surface area of the
cone,
2.  The surface area of the cube is equal to

the curved surface area of the cylinder.

Which of the above statements is/are correct ?

(a)
(b)
(c)
(d)

(29-A)

1 only
2 only
Both 1 and 2

Neither 1 nor 2



AT 31T =16 719 (03) TN o ferg Faferias w
f&wﬁﬁm:

ABCD UH =gyw 2 f5&H AB = 9 em,
BC = 40 em, CD = 28 em, DA = 15 cm 3R &M ABC
s THHI B |

94, B9 ADC 1 &5%a fova & 2
(a) 126 em?
(b) 124 cm?
() 122 em?
(d) 120 em?
95. =a¥¥ ABCD & &5%a fha1 8 2
(a) 300 cm?
(b) 306 cm?
(¢) 312 cm?
(d) 316 em?
96. Y= ABC % wimmg 3fit fiys ADC % wfmmg &
= fome 3t 2 2
{a) 4cm
(b) 5Sem
(e} Bem
(d) Tem

ST ST AT 3 (02) T & e Peafefae w
mm:

s wHeTE S ABC, 2043 em # = @@
T g9 % Had 7 |

97. firgw &t yon ot s =T R 2
{a) 30cm
(b) 40cm
(e} 5H0em
(d) 60cm
DFGT-T-HTM {30 -

98. s ABC *1 %, iH A Hd g W R
d Termer = 2 7

[a) 15 em

(b} 20cm

e} 20 V3 em

(d) 3043 cm

T AT =T 7Y (02) TgATI o e eafafeae w
ﬁ?ﬂﬁﬁl‘l{:

uh SEFIE GUR YohaE # o, Hien
3t S=r€ & TEE 22 om 2 3N I el i
wFETS 14 em B |

99. wEHINH GG SCHCH B g EEE
fram 2 2

(a) 288 cm?

(b) 216 em®

144 cm?

FATge g9 % Frw Fuifm a8 fEn o
TRl

(e}
(d)

100. af2 et wHOL woherss @1 e
(faear) % =@1 (w9=) 1 JTE S, R IEH
A VE, a1 (S — 3V) Thaes SUst 2 7

(a) 572 cm®

(b) 728 em?

(¢) 1144 em®

(d) Iudw # H wIE AE

A)



Consider the following for the next three (03)|98.
items :

ABCD is a quadrilateral with AB=9 cm,
BC = 40 em, CD = 28 em, DA = 15 em and angle

The centroid of the triangle ABC is at a
distance d from the vertex A, What iz d equal
to ?

{a) 15cm
ABC is a right-angle,
(b) 20em
94. What is the area of triangle ADC ? (¢ 2043 cm
(a) 126 cm?
(d) 3043 em
(b) 124 em?
(e) 122 em?
(d) 120 cm? ,
Consider the following for the next two (02)
95. What is the area of quadrilateral ABCD ? items :
@ 800 em? The sum of length, breadth and height of a
e cuboid is 22 em and the length of its diagonal is
(b) 306 cm? 14 cm.
() 312 em?
(d) 316 em? 99, What is the surface area of the cuboid ?
2
96. What is the difference between perimeter of N AR
triangle ABC and perimeter of triangle ADC ? (b) 216 em?
(a) 4em
() 144 cm?
(b}  5Scm
(e} 6Bem (d) Cannot be determined due to
(d)  Tem insufficient data

Consider the following for the next two (02)
items :

An equilateral triangle ABC is inseribed in a
circle of radius 203 cm.

97. What is the length of the side of the triangle ?
fal  30cm
(b} 40 em
(e} 50em
id} 60em

DFGT-T-HTM (31-A)

100,

If S is the sum of the cubes of the dimensions
of the cuboid and V is its volume, then what is
(5 -3V)equal to 7

(a) 572 cm?
(b) 728 em®
(e) 1144 em?

(d} None of the above



wel oHTH & foru serg
SPACE FOR ROUGH WORK

DFGT-T-HTM (32-A)



wd W & foro s
SPACE FOR ROUGH WORK

DFGT-T-HTM (33-A)



el hTH & To10 ST
SPACE FOR ROUGH WORK

DFGT-T-HTM (34 -A)



=l 1A & foru ST
SPACE FOR ROUGH WORK

DFGT-T-HTM (35-A)



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-T-HTM Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

1.

4.

9.
10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET,

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet,

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will seleet the response which you want to mark
on the Answer Sheet. In case vou feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided, See directions
in the Answer Sheet.

All items carry equal marks,

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, vou should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
ORBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the eandidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty,

{ii} If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be eorrect and there will be same penalty as above to that question.

(iii) If a question is left blank, ie., no answer is given by the candidate, there will be no penalty for that
gquestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

ST & ;e o fRedl BUrat 39 gfeas % HE 98 W e @ |

DFGT-T-HTM (36-A)



